[N of reco track vs normalized x2 ] [N o associated (recoTosim) tacks vs normalized x* N of associted (1scoToSim) 1ooper tracks vs normalized x7

1%} F (%] F %] F [%]
x [ . X . x F . X~
< I < i ¥ I X
I | Do g - g I P Do g
w0 BRI o o0 o @
E P = ke 8102
[ - o
10* 10 3

AT ERTERTETTTETTECT: ‘ET'H LT TR CELEE T E 1]
16 18 20 6 8 10 12 14 16 18 20 9%9"2 4 6 8 10 12 14 16 18 20 0992 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?

berset

trye tracks
[fake tracks

duplicate tracks
=
S




	Contents
	Page 1


